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1. Introduction
In RAN4#91 TCI state switching requirements were discussed in detail and several agreements were reached that are captured in TS 38.133. The only remaining issue is related to the definition of known TCI state. 
In this contribution we present our views on the remaining open issues related to TCI state switching requirements. 
2. Discussion
In RAN4#91 it was agreed that the known TCI state is defined as follows:

	The TCI state is known if it has been meeting the following conditions:
-	TCI state switch is within [X] ms of last transmission of the resource for beam reporting/ measurement for the target TCI state
-	The UE has sent at least 1 measurement report for the target TCI state
-	The TCI state shall remain detectable during the TCI state switching period
-	SNR of the TCI state is > -3dB
Otherwise, the TCI state is unknown.



 The open issue related to known TCI state definition is the value of X.
The TCI state is said to be known if the UE can switch to the new TCI state without any additional measurements. If we assume that the UE is making and reporting L1-RSRP measurements based on SSB, the time to determine the best Rx beam for a TCI state is 8xTSSB, where TSSB is the periodicity of the SSB associated with the TCI state. If the UE is assumed to update its L1-RSRP measurements for beam tracking every 8xTSSB ms, we could define the validity time for that measurement as 8xTSSB ms. 
In case of a fixed or low mobility UE the SSB periodicity could be assumed to be high, such as 160ms. The validity of L1-RSRP report for a power class 1 UE would be 1280ms. For a mobile UE, the UE is required perform initial access, cell identification and acquisition with SSB periodicity of 20ms. Assuming 20ms as the nominal SSB periodicity for a mobile UE, the L1-RSRP measurement and report would be made every 160ms and the report validity could be defined as 160ms.
Based on this we can define the value of X for known TCI state as 1280ms for UE supporting power class 1 and 160ms for UE supporting power class 2,3,4.
Proposal #1: Define value of X for known TCI state as:
	1280ms for Power class 1
	160ms for Power class 2/3/4

3. Conclusion
In this paper we address the open issues related to TCI state switching requirements and have the following proposals:
Proposal #1: Define value of X for known TCI state as:
	1280ms for Power class 1
	160ms for Power class 2/3/4
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